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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you

answer the questions. Answers shouid be given on a

SEPARATE ANSWER SHEET :

1. Please write your Centre Code No. and Roll No.
very clearly {only one digit in one block) as given

in your Admit Card. No block is left unfilled
and Zeros appearing in the Centre Code No. and

Roil No. are correctly transferred to
the appropriate blocks on the booklet and on the

Answer Sheet. For example, a student

appearing from the first céntre of Lucknow for (Cen-
tre Code No. 0042) N.T.S. with Roll No. 7 will
make entries as below :

Class Code State Code Year Centre Code. RollNo.in Figures

@ O (EEREE 6]

Your Centre Code No. and Roll No. shall

remain the same as given on your Admit Card.
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This test booklet is dlvided Into lwo parts Part |
containg 50 quesuons of General Mental Abi!ityTest.

‘Part Il is divided into two section that Is Section A .

and Section B. Section A contains 40 questions

each of Hindi end English comprehensive Test in -

which candidate is to attempt only one language

. paper either of Hindi or of English. Section B
‘contains 90 questions of Aptitude test, all the

question is lo be attempted.

All questions carry one mark each.

Since all questions are compulsory, do not spend
time in reading through the whole guestion paper

before beginning to answer it.

Begin with the first guestion and keep on trying
one question after another till you finish it.

1f you do not know the answer to any question, do
not spend much time on it and pass on {o the next
one. If time permils, you can come back to the
questions which you have left in the first instance

and try them again.
Since the tima allotted for the question paper is

very limited, you should make the best use of it by

not spending too much time on any one question

Blank page have been provided for rough work at

. the end of test booklets.

10.

1.

12.

” Remember, you have to mark answer on the

separate Answer Sheet.

Answer Shéet has two specific partie; Part | and
Part Il candidate is to answer the question of Part |
(General Mental Ability Test) from serial no. 01 to
50, Part-1l Section-A (language Comprehenswe
Test) from serial no. 51 to 90 and Part-ll Section B

(Aptitude test) from 91 to 180.

Answer to each question is to be indicated by
writing the number of the correct atternative in the
answer sheet in the box prov:ded against each
question.

Immediately after 45 minutes (60 minutes for
physically challenged group) you should start
attempting Part Il Section-’A’' (language
comprehensive test} and immediately after 45
minutes (60 minutes for physically challenged

- group) you should start attempting part il - Section-

B (Aptitude Test)

Now tumn over the page and start answering the
guestions.

N.B.
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: Do not write anything except the Centre Code No., Roll No. and rough work, anywhere in the
booklet. .
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. - (Part-1)
General Mental Abililty Test -

e . U W 1 ¥ 7 9% Y9F § ax yg Direction: In question no.1to 7 each question
_ : . : has four terms. Three tenms are alike i

o . he lhre alike in some

g ug fRlt 7 fored w5 3 U6 9AM & way. One terms is different from three others.

3N TP Ug g 1 Q =1 & arg § fysg  Find out the correct terms which is different

_ _ _ from three others and write its alternative
9g B Bifed 3R IS ey wea #1 o ‘number on your answer sheet against the

[ TFE TR Hel ¥ AT & | forqu—  proper question number—

1. (1) B |
{2) 4-1000 mes
) 6_343' {2) J-1000
(4) K-1333 (8) G343
o _(4) K-1333
2 _(1) g e (1) Steel
(2) e (@) Brass
(3) ar1 (3 Mercury
(4) i " {4) Copper
(1) oGm 3. (1) pGm
(2) Kosw (2) Kosw
(8) BEHK (3). BEHK
@) 'LOR (4) #OR
. . Lo
R 2 3 4 | 1 2. 3 4
PNPNTS-2015 (3) Contd.




A A D " A A D
T 2 3 4 - 1 2 3 4
forder : weA e 8 & 14 3 e # TR gg Direction = In question 8 to 14 there are
e ohe s A e £ 2 SN L
el “"E‘ o @ ol Bk B <1 9&T # § ) TUD 1o terms of the left of symbol : - out of the four
go 4 TP UE o £ R () F Ul terms one terms is missing which is shown by
T S Y A YD I R Rt 4 | @ ( ? ) and which is one of the four alternatives
: ; g p— ' given below. Find outthe correct alternative and
81l _ @I IS e P HE aﬁwrite its number against the corresponding
| U W & 9ed ATy $OX UFF TR question on your answer sheet-

- foRag-

Parliament : Great Britain I Congress : 7

o wRfarve s de B @7 8

(1) FreT (1) Canada

(2) ST (2) Japan -

(3) HgF A g,péﬁzm ,'(3) United States \ofAmerica .
{#) South Korea

(a) <o PIRAT

(1) 520 _{4) 520 K
@) 5-96' (2) 596
(3)' 496 (3) .496
(@) 520 {4) 529

PNP.NTS-2015 ' (@)
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o T 140, GEJP: FGMR::FKRU:? . 10 CEJP:FGMR:: FKRU : 7
(1) HNVX : (1) HNVX
{2) JNXO , (2} JNXO
(3) JMvY . (3) Jmvy
(4) Mow @) mMuw
3 (00| Q[ 4] 2 - |QoFOdF Qal 2
; : —. L= T . S .- -
; Oml@O[ep[aa] Oul 0] 0] an
_ 12 3 a4 S 1T 2 3 "4
2. = T S ' '
< 1 "ERBEE S - BEE
ht'to “ : -_ :
e G O] _
i Tt 2 3 a4 : 12 3 e
vn by - : : e K 5 :
itives - 18 F . ny . ' L . .. .
eand ' @@7 _ @J@ ?
‘nding - : .
| 1=g0 = g0
1 2 3 4 | _' 1. 2 3 4
ﬂ. 14. Gl - . '
- Blolele]  Elolals
e . 1 2 3 4 | 1 27 3. 4
' fader : w9 15 @ 17 wEw.9 ofieid W Direction : Question 1517 are based on
, IRE &1 9T S F ve, 3} g & number-or letter series. One, two term is
o wew e (7) @ <ol Ty &) A T3l missi'ng in eacr; series and inQicgted by
T R et 3 &1 ST FIRTT q qutes?tohn ;nark I(t ?7) fz_nd out thle:’e.'r"mssmgcji teqn
WP e AT P W) Yo e o wrey OUt of the four a emative given clowand write
: : its alternative number against the correct
HIT IR U R ferRag— question nurnber on your answersheet—
© 15.2, 10, 30, 68, 130, ? 15.2, 10, 30, 68, 130, ?
(1) 240 (1) 240 AR
(2) 196 (2) 196 ' -
(8) 222 (3) 222 .
(a) 226 | (4) 226
Contd - PNP-NTS-2015 . (5) Contd.
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AT B34 10,3, T 68, 26707

18, 6,2, 12, 6, 20, 12, 30, 20, ? ? 16. 6, 2, 12,6, 20, 12, 30, 20, ? ?

(1) 49, 36 o T (1) 49,36
{2) 42,30 . | (2) 42,30
(3) 386, 42 | (3) 36, 42
(4) 48, 54 | o (4) 48, 54

17.5, 34, 10,51, 17, 68, 26, ?, ?

(1) 102, 3¢9 ' (1) 102, 39
) 76, 35 - (2) 76, 35
(3). 85, 37 _ | (3) 85, 37
(4) 35,86 -_ _ ' (4) 35 86

PR w8 ® 21 7@ 74T 3R - GERT Direction : In Question 18—21 Problem figures
are given at the left hand side consisting four

angfrt # Pfved B1 3 9R s 4 TE &
figures in a definite series and the place for fifth

g ured mzi; a1 vt R &, ol e figure is vacant which_has been shown by
fre (7)) ¥ <ufar T 21 GRS WHWT question mark ( ?). Four answer figure are given

3;@;1%‘{ & Tq¥E IR Bﬁ?eﬂ@ﬁi’m CURIEE against each problem figure. Find out the

) .S : number against the proper question number on
e B IR & WA IR T T vour answer sheet— '

forfRau— _ | |
Problem Figures L - (AnswerFigure)
— 18. - [AJ&T  aaA
Ae| o [® -— . : -—
18. 1 |a~ X . A_? , .1 ®t I el
+ 2 3 4 5 . 1 2 3. 4
. : - 19 A-On+A[D-O+A0
: -T -of-o . + - +
19, S IR R R I . R e
1 4
1 2 3 4 5 2 3
A == o 20. | A
R HERE
1 2 3 4 5 1.2 3 4
PNP-NTS-2015, 6) ' |  Contd.
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frda : wee 22 § 28 # wie™ 1 ¥ f&d 73 quif Direction
I oW || gPdre! & ®q ¥ farg 7 ¢ in column-| are coded in the form of numbers.

fobeg sl & W 1 & | U & Haarst @

(ﬁwm}wwmvﬁ!

ma%ﬂmﬁﬁ‘-l%m— ' v

Bied | aw’fam i

EJP .325°
'REL 143

sov 769

PRO 645

LOS

176

22. OPR &1 ®IS &1 81—
(1) 419
{2) 367
(3) 654

(4) 5%

) SLVaﬂaﬂazfms’ﬁrr—

(1) 719
(2) 576
(3) 134

" (a) 742

PNP-NTS-2015

e —— s e

: In Question 22 to 28. the letters

Which are written in. column-Il, but the order

_ of numbers is different. Study the code of
& | UgHR U & Aol B FHE =4 A1 letters and find out the correct answer for

Y M uRE W D IR D {%{Q fad 7 ¥R each question from given four alternative
ﬁm ¥ ¥ 98 Ao EF\[ FRTT Ak B‘ﬂﬁ and write its numbers. (alternative numbers) .

against the proper questions number on your

answer sheet—

Column— " Columnl
P o
REV A7
'_;530 _Bas
A0S T8

22, What will be code of OPR-
(1) 419
{2) 367
_(3) 654
@so -
23, What will be code of SLV-
{1y o ' '
(2} 576
(3) 124

(a) 742

7




o EJL@'W wgﬁm—- 13 Wﬁatwilig‘e?odgprJL‘—
W KLY |
@) s @) o
(3) 179 () 1o
11' . {a) 321 . LA
25. Rés 1 Hie TG B— , " 25, What will be code of RES—
(1) 176 | : N O R
(2) 437 o N ,..(2) 437
(3)- 941 (3) 941
'-(4) 275 S : (a) 275

2 111% TP DS a7 § CLPT @1 EOTY e 26. |f in acode languagé CLPT written as EQTY.
ST @ a1 S P W ,5[ FINR @1 foran ~ In the same code Ian'guag'e FJNR will be

SRAT- written as— Hie
(1) IMPW e '. | ) wPw
@GV o (2) GLPV.
(3) HMRW . (3) HMRW
() GNRX o . (a) ONRX

. B ) Lo . V - .‘ - ~, i -
o7, afe 5 Pre AT A FLNS P DGLP 27. ifin a code language FLNS written asDGLP. §

_ . , z

forgr o & T S0 P AT # ILPY @ In the same code language ILPV will be
fern ST ' 7 . written as— e

' : A B C Ne e@G w73 SR B AT
B FMS  pamwol@aRETMAMS ST T
@) Gns O L o ons  @&™ s

() HINR - (3 HINR

(4) GHOP 7 . (4) GHOP

PNPNTS-2015 o ® | ' Contd.
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as EOTY
R will be

:nasDGLP. .
'LPV will be

Contd.

28. uf ﬁi‘\‘fﬂ aﬁ%’ urer § OMJC ai‘l KJLB 28, Ifmacode language OMJantten askKJLB.
o e & @ S Bre W H TIGE B
foran SmAT—

- In'the same code language TJGE will be

written as—
- (1) PGED 47 PGED e AR R A
(2) OGFE (2) OGFE AGBC »ECFGRIT WKLY
S ¥ %W VU TSR §FP ko
(3) RHFC (3) RHFC
(4) SGDE (4) SGDE PsddB‘

e w20 933 W &, T 3R ﬁﬁ'ﬁh  Direction : Question 29 to 33 aré based on
75 W Rad ) & m g5 @ =19 fo) letter series, in each question some letters are

T TR Rew § 9w A I AR o B missing shown by (-). The missing letter are
given in a proper seguence as one of the four

# 3 W aE T @ forg w8 fdae alternative given under each question. Find out

ST T Sue e W@ B AU SR the correct alternative and write its number
' aginst corresponding questlon number on your

gz W) falRau—
_ 7 7 ' answer sheet—
29, ——B—TM—BA— MO —A— sﬂ?BgﬁwmﬁaAdeﬁA
- . uawﬂﬂgn&nbwﬁwﬂ

(1) MTOBTAM
() MOAOTBT

(1) MTOBTAM
). MOAOTBT.
'B)OABTMOA.
4) TMOABTM

{3y OABTMOA
@) TMOABTM

30, — TP —N— P — ——PC 30 —TPENE P lpg
() CNPTNT | (1) GNPTNT . - <ov .
@) NCPTCN ) NCPTCN ?'f?4
(3 PNTCPT (3) PNTCPT
(4 NCTCNT © (9 NCTCNT

31, —L—C—LM—T——— BT T METE ML

() CTMCLMC () CTMCLMC
(@ MCTLMCT - 2) MCTLMCT
3) TMTCLMC L (3 TMTELMC

(4 TMLCTCL 4 TMLCTCL

PNP-NTS-2015 , () - Contd.




32.K—C—B—KB— , T s kbcEpfikei

(1) BKCC , (1) BKCC
@ CBKC , (2 CBKC
@ BCKB () BCKB
4) BCKC 4 BCKC
33.——C;—BM~———B—CK ' 33_"L‘icf;amL'f;Blﬂi'qK
(1) CMKBMK | (1) CMKBMK
2 BCMKCM | (2 BCMKCM®
(3) BMKCKM - _ (3) BMKCKM
@ CBMKBC | " (9 CBMKBC

e - U & 34 9 53 % frel @ e Direction : In Question no. 34-38the equations

59 B HRU GEAT & FHSO TR B Y # ha(_\;e_ bc:come wr;ng bec:use of thg wrong

. . . order of signs. Choose the comrect order of
PR W—$ A @ e ¥ & signs'from the four options inen below so as
aral Rieeq &1 g DI e GHIBRT to make the equations right. Wirite the altemative
el a‘r W0 | el T @ © 9y number of the correct option on the answer "
S gTiTgﬁ v fdey 9 & T IR T sheet against the _corresponding question
. ' number—
R fafEy—

: 34.24=6+2+6
34 24=6+2+6 2 :

O

(1) + +=

2 =+ (2) =+ +

(3) 4+ = = (3) +:‘E'=
(4 +=+ @4 ==+
35 3-5=7x8 35 3-5=7x8
'(n -x= (1) —x=
(2) ==X (2) =-x
@) =x- (3) =x-

@ x-= S x-=

PNP-NTS-2015. (/‘I 0) ’ © Contd.




136.24+6=2+6 .  36.24:6=2+46
. . i J.
NURTES - (M =+
1 (2) ++= | (2)++; K
(3 +=+ _ ' ' (3) +=3
. ) +x= . @) +=+=
K ' .
b 37.6+4=5x29 - 37.6+4=5x29
M ex= ) exe
L @ =ex | @ =+x
¥ .' g Byx+= . (38) x+= .
' @ =x+ | | @ =x+
. 1 .
“ations ; : Co
- rong . 38.17+7-3=13 - 38.1747-3=13
Cderof - f()-+s - (1) —+=
isoas 2) +=- , , @2 +=- .
‘ mative : ' - '
. answer @ -=+ , @ -
"‘;es‘tion (4) =—+ : o (4) =—+ -

e W 39 ¥ 41 3 W U A9 P Direction : In Question 39-41 numbers are.
;q frEt § < T 21 e wEmn &7 e Reg placed in figure onthe basis of some rules. One

2 R T e (7)) X =i T 2| Red place is vacant which is indicated as ( ? ). Find

out the correct alternative for the vacant place
I B i Ry T AR Rew 4 3w P

: . and write'its number against the roper uestion
1 fwcy @iforg a2 SUd G B IR UIH g broperq
number on.your answer sheet- -

a waﬁamm%wﬁ%ﬂﬁq— |
isg 3
2y 2 ’ . E 2 21
3 29 | () 29
(4 24 | | A 24

Contd. IPNPNTS 2015 : any Contd.




: (1) 21 ‘ '
i o % o (1) 21
: .

‘ @ 15 ;’y > ; B |
; - 8 1 : S ¥ .
“@ 9 4 19 S :
- 41 3 6 6 -3 6 C 6 P
' _ . 41,
JANWANRYANRVANVANSVANS
7 7 3 4. s 8 7 7 3 & sE 8" !
() 17 : ' 1y 17 | 2
(2) 10 . . ' 2) 10 3
‘ @ 15 @) 15
§ ) . . ’
|'f (4) 18 : 4 -_(4) 18
T forder : e SR 42 9 44 H <019 ¥l B Direction : Each of the following questions 42
i S o A= ﬁv_\‘ﬁ !Tcﬁl'\’ SWR? ﬁ TR to 44 has a group of the three words which are
" related to each-other in some way. This B e
1k T P Tl B AN 3 ﬁ?ﬁ T AR relationship can be represented by one of the §
anq;ﬁzﬁﬁ-@;mﬂ T g@%_faa,—(.q-\e[ﬁqafaa 1;:0u(rj flgurﬁ altematl\t{e glver; in-the beglcl;mmg 3
- ; ind out the correct figure alternative and write' §
RUNER %-\qﬁ 3[[3“! ﬁ its number against the correspondnng questlons d m
wa?r fadon W @ WE WY WE B R“{Tﬂ’@ on your answer sheet- NiE
: Ty
. YT SWR-TEAE W ﬁ‘—r@n—— B R
(1 1) 2 | I
0@ oo <,> 00 |
(3 O . - 3) O (4) N
- ' S 7 : .:‘ P
iy
5_ T
PNP-NTS-2015 {12) . . Contd. PNy
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42, History, Physicé. Psychology - |
M3 |

(2) 4
i 31
. (4) 2

43. Jharkhand, Ranchi, Nagpur

N (1) 2
P . @4
, | @
(4). 3 .43

"4} India, M.P., Bhopa! " .

) 4 o | ' (1) 4
)1 ' | | 2) 1
- @) 2 S 2
‘ juestions 42 § w2 © .
yswhichare § @3 . . . o 4) 3

2 way. This §
4y one of the o S .

¢ beginning. ¥ W : uw 45 W 47 § @ 7Y @RI W Direction :'in Question 45-47 are based on
tveandwrite ¥ arono s = W I @ § ufed ey information given below. Read the following
ing questions §

» ; N . information carefully and answer. The question
- e @ S I LTF{&‘ given below. There are four alternative for each

¥ R wr fRweg T T ¥ 1 WE fAFed BT question. Find out the correct altemnative and .
¥ wifer qor SW [deew w&1 $ Fd 9 S write its number on your answer sheet against

| AR A SaR TS ‘T\"-%@Q— - the proper question number—~
O ‘\'FHT' - o I Information—
O £ 1. QAR T OOR &1 e T | 1. Radha went to school on Wednesday & Monday.
' | 2 g wfaR &t e Wl e 2. Suman did not go to school on Saturday.
| @ £ 3. ‘\Lﬁmgm H_Wﬁ-’ﬂr\’ ?ﬁf hel T | 3. Seetawentto schoolon Wegpeiéday and Thursday.
| ‘ 4. AT IEHAR T AR G| el 8] Mg | 4. Geetadid notgotoschoolon Ifrlq’ayﬁartq_Tuesday. _ g
| 5. dr HoaR, UMAR @ WMAR B e 5. Reetadidnotgoto school on Tuesday, Saturday
| o5 -TFS‘KI _ and Monday. T *’_ a ':
Contd FenpNTS 2015 : (13) ~ Contd.
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s oy o <ol rafot g =

4. On'whi‘ch-day_'arl?r the girls went to school-
(1) WPER - (1) Monday. |
- (2) R B _(2) Wednesday
(3) Wﬁ\'cﬂ’\’ ‘ , - " (3) Saturday
@ i ) Tt

()2 | . - (1) Two
2) 4 . (@) Fowr
(3)3 () Thee
@1 | (4) One

(1) S — g (1) Radha-Suman
(2) e — @ Seeta-Reeta
( )T‘haT el ‘— (3) Geeta-Radhé
(4) g — <t (;) "Suman — Seeta

48. ilé‘l e A HR '\"1' ?ﬂﬁ'cn AT L AT 48, Rohan ranks ;fth from the top and 26th from the §
£ 7 = ¥ 2691 R T A S ’cﬁ&ﬂ % bottomin class. Howmany students are there in '

oSl fiem BT & - the Class—
(1) 32 - 7\' -{1) 32
@33 (2)33
(3)34 '_ | : (3) 34
(4) 27 S | (4) 27'
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49, 7w AfRd @ AT ¥ 1 ART Fow 37 W 49, Tarun is the father of Rohit. Rohit is the
-~ brother of Kala. Kala is the wife of Ditip. How

- {2) Brother in-law

Dilip is related to Rohit—’_

(1) Uncle

{3) Fatherin-law

(4) Son

'50. 7% fer IO BX W 2 L STR Y 3R 50. A man starts from his house walks 2 km.

towards North. He turns right and walk 3 km.
Then he turn left and travels 3 km. What s
the direction he is fac':ihg—

(1) East

(2) West

@ Noth - 4

(4) South
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paper or English language paper. If candiate -
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the given four alternatives for each question
and write its number on your answers sheet

against proper question number.

Please tum over the page and start your

' work. -

ﬁw—mm%ﬁ'ﬁwmﬁmﬁwﬁ%ﬁﬂm

N.B.— Do not write anything in the booklet except rough work.

P




e Test

1inutes
ninutes
40
(DATES
of Hindi
English
pt al the
1oer ie. hel
language
| If candiate -
- paper, has
“Ino. 8 and’
h language
ithin: box

swer sheet.

e amongst
ich question
‘swers sheet
er. :

d stért_ YOU} .

“ PNP-NTS-2015 - - |

51—55 : fﬂﬁﬁﬁwaﬁ

™ R W@mwﬁﬁmmmmﬁssa%wwnw%

g%’mmaﬁr%?w-sﬁa% LI
IR e R | = T B v el et

_ﬁmwﬁ;ﬂmzr:;:;ﬁmwaéwﬁmmﬂﬁﬁmgx |

B T Wﬁ%mélg@ﬁwakmﬁ?ﬁmﬁww

TR BRI W@l@m@ﬁ%%ﬂ%ﬁ%ﬁﬂgﬁﬂg

_mwwmﬁﬁw AT
mﬁm%mtfﬁaﬁﬂm C T
) meﬁ_ Wlﬂﬂﬁ?ﬁﬂé’rwé’tmﬂl Wqﬁm

(1) G’i’mmm

(2) 3g =& wm

(8) e W a o
() T A P
szfqa{e’rma?ra{é%—

(1) w5

(2) o SR e

() TG 75 2 e

(4) D8 B e
3. R @ 38 i g T
(1) aPrTE FY AR B TR
@) HRORTE BT T GaREY B R
(@) A TR D IR

(a) agawaﬁa}w

-. m.tﬂawﬁtﬁ%,iﬁaaaﬁfh$w$raé%—

(1) G T B A At R PR
O wd -
@) & vEre A B A
()ﬁam@ﬁsﬂa%w

(17} |
a Contd.




i

s e TR PR wWE- . -
(1) TwgaAl B afq &
(2) G e & A
(3)'u§m$'ae¢\'fmrwﬁ ' - o ﬂ
@) 7 @ P T o o -
56— so%ﬁﬁ@maﬁwmqﬁmqaﬁgqmmss—mmwmmﬂw
T 7!
wﬁwmmﬁélwﬁaﬁ%mﬁwmﬁmaﬁqw s
b I T ST Webe ¥ | Ry 9 TR G . ) I, W, o, o, S
3R g9 &1 RIBR €61 § ) S8 Wl 51 ¥ 1S, w0t 3R 7o T8 @ waar] |
T AT IRl @ | R A o aemfne ar @ Wi By @7 waw |
PAT 2| ST~ & AANTA B T W o Sa) AGUS 3 kT #) I e 'z
.%:ma%saéarﬁmqaaaﬁﬁaﬁﬁa;m%gwﬁqgmwg@wmwaww 3
e, Rrad! usel dea f T A o o, ﬁﬂiﬁagmnaﬁﬁ%l |
s0. 7t S & e v it e e 2 | B
(1) R0, ST Sl | | B &
(2) I, WH—IRT P | . | | ¥
@ ) B () 2 e o I S
57. mmwﬁmﬁmﬁﬁ%ﬂqmmaﬂm%— | o
(2) aagua-mﬁ.mmm% - o . ]
() i v TR | -k
@) 3P W aefs e s - B B
0. 7 o 2 WY B W - - o
(1) N Tl URehfEE | o "
(2) 3T TE W @ e A
(6) M A A -
0 0 e ]

PNP-NTS-2015 7 - (18) Contd. | ",: P




oy, gef
31 Al |
@ A
A BRAT

i Y el

-59'.-??11%##1?&3?51&.%—-
W wt
(2) T
(3) WS
() g =
WWWW%MWW%—
()Gﬁaq—ma%azsﬁgaﬁsﬁm

6165 :ﬁﬁﬁnnﬁvmﬁmqﬁ@mmm—%ﬁBﬁQMWW
e A Y e T, A e et e o R s o el Wi T

& | 3T TES P IRA R AER T AN W mam R s 7 59

R & PRV SRR ARG 1 WA R S R sl & g wad g R 39

97 fart & 7 SR e Y 3% aR-aR i ¥ e | dae aifd

A & T ) R e, J P aR R w98 B e

aq%ﬁaaaﬁam%ﬁam"m%aqﬁa‘mm%mmﬂa@mﬁw .

e ofR AR Reeh e o) ge a9 g Q- TR A I e R
B g oG Sl Y S W a3 ¥ o ol A omgfr ¥ A 7w
éﬁgﬁwﬁmwmmnﬁ@gﬁ‘lﬁﬁé’mﬁmqéﬁﬁﬁﬂéﬁ -
SR

61, ‘e R Wor BT ART @ o
o) TR

@) T QA g e g
6) e T

() vaR=

PNP-NTS-2015 (19) . ' Contd.




2. et % Y ¥ o % ek e

(1) SufERt & wda B |
| ) aften & e B @ - i !
. (3) wrafe= AT A > PR |

(4)$Ffi?h%‘v‘!‘d‘:$ﬁvr
| 63, ARG &9 XAq §IA—

‘ (1) 26 SIFFaY 1950

(2) 26 TTFER 1949

(3) 10 3PTRA 1947

(4) 15 T 1947 :
- 64, ST Wea o et B
; (1) TR m | :
i @) T |

@3) m—mqmﬂfﬁm 1
@ I
esgqg@qwﬁg%mqmam%_ o
(Mma%mmmﬁa@ﬁaaw S -
@) w T - B
(3) i ol B T W o | '
L @) enduma g

e maonis

R -

e o

VY SR

! sos7 A A T o 2 e B A TR
66. (1) mzﬁﬂa g5 Y

.(2)m%rerﬁﬁgém%%.ﬁﬁ'_ | I -k
(3) =TT T AR T IR ST ' o |
 (a) TN T DY WA T

PNP-NTS-2015 (20 Contd.

iagte 7T S ST T R

frreiic

[~




(1) 1.3.2.4

{2) 2.3.1. 4

(3) 3.1.24

(4) 2. 4.1, 3
67_(15asraﬁaﬂ$wa7l

(2) TEF & S THR AT

@-Wm&ﬁﬁaﬂﬂé

(@ i @ R

(1) 1,23 4

23,214

(3) 4, 1.3, 2

(@) 24,31

Mm-ﬂﬁﬁm‘cﬁwm—

o omd & v B often o @1 o8l
(1) &R A an et @R B § |
' gqama%uﬁﬁﬁmwm
@)mazjﬁ@mﬁ’ﬁmﬁﬁﬁaﬂm
" (@) wfa gﬁwmﬂﬁmm

69, =N & deT BT a?ralei%—
(z)mmﬁ%mm

-(3)q:{a1masm:{€fm

() fefA A |

PNP-NTS-2015 @

Contd.

pohom RASYTE

AR TR W"M 2,

T




g —

S« e -
- -

— -

71.?4'@?1%_1@?@%3@%—
(1) e
@) el
(5) TR
(&) %

72 g 1 AT -
W
@ WHER
() W+ ¥+
@ B+ 7% |

73, ‘wa @1 Afa QT 8-
(1) dt + 3
@) 9+ @

(3) @ + 3
(@) g+ 3

s ok B R AT T e 2
emmmam
(2) afda &=
(3) /@ <
(@) & A oW

PNP-NTS-2015 S (22)

Contd. . '-"




i
el
o

?’;i'ié.! ey gt 1 SR R T g & w2
() s, o, R
(2) wifdrermsn, sifraE, 3w
(3) arfrerg, afiRaw, afEr
(4) SRR, X, arfdvavor |
6. af TRIFT PR, i S B ST foe g BT A

(23)

Contd.

Bt A el



e e M et R
L~
. w
—

OR
- (2) &
(3) =
() g

PNP-NTS-2015

Contd.




T - - -

86. ATAAT & IR BT W A9 uga —
(1) XM R/ T o wedar
(2) 98 PR v @

(3) s Werd &
(4) P gxT® Tt ®

- 87. 7 954 oA a1 R wgr g -
- (1) W T R
() < @ =i & T
(3) IFT—aT T & W
(4) @ T

88, TPl W Wl By §-

(1) ==a<E

@) PR T
.(3-)q?f
(4) fesm _

89. “HI0E B faels wreg B-

(1) P -
(2) snEw
.(3)?@&1'_
(4) aremien ,

0. TAAE B G ¥ P W 7= T
(1) =R - '
(2) ®TEER
(3) w=x .

(4) wAIRR -

PNP-NTS-2015. (25)

a4 e e ———

Contd.

e e st e




ENGLISH
" Section -A

; melt the ice.

51-55. Read the following passage and answer the question that follow—

The sun was getting -warrﬁ as Philip put on his shoes and prepared to go for a run.
At the edge of the lake the ice was still quite hard, and he did not seem to realize there
was any danger, but nearer the middle of the lake the warm sun.had already begun to

5 e - After making a few practice turns, Philip set odt with long sweeping strides to cross the

lake at its widest point. In order to make himself go faster, he tried torace his own shadow

as it fell on the ice ahead of _him, when he was about half way across, crunch ! the weak

ice suddenly broke beneath his weight, and with a splash he fell through it. All the air was

-! sucked out of his lungs by the shock of the freezing water biting into his body, so that for
twenty or thirty seconds afterwards he was not even able to scream. Then at last he

51. Philip sketed across the |ake'—

(1) to save his father

e o P

{2y for fun
(3) because he was in danger

{4) to race someone

T 3 TR 21 At o3

E 52.. Philip fell through the ice—
(1) atthe edge of the l1ake
_(2) inany part of the Iake'

F T ezt b

—— e

- (3 in the middle of the lake
(4) on the other side of the lake
(1) shining from behind him as he skated
(2) behind him as he skated but not shining
(3) shining from in front of him as he skated

(4) in front of him as he skated but not shining

PNP-NTS-2015 ' - (26)

l’ found his voice, shouted for help, and almost immediatly afterwards blacked out.

53. Which of these statements about the sun is correct ? It was—

A When he opened his eyes again, he was lying in bed in his own home, with his father
vE ‘bending anxiously over him. “You should have known better thanto do a silly thing like
AE " that,” were the first comfortless words he he_ard after his narrow escape.

s e it A e
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54.  Philip fellinto the water because—

(1) the lake was too, wide

{2} he was too heavy for the ice

(3) all the air was sucked out of his lungs

(4) he made_é hole in the ice with the practice turns

55 ‘blacked out’ means—

(1) it was dark under the water

(2). he put on dark clothes . ' . S

(3) he got out of the water backwards

(4) he didn't know what was happening to Rim

56-60

Read the following passage and answer the questions given befow it—

Every reader of this passage must spend the whole of his waking life looking at things,
Looking, like breathing, is natural: we do it without noticing it. Looking is passive— but-
seeing is active. Once you start seeing things you really begin o wake up. People
who see things which others have only looked at, and seeing, draw conclusions from
what they see, can add to man's knowledge and help progress. . '

Someone recently discovered a place where metal had been worked continuously '
longer than anywhere else in England. He 'saw’ awall in the Forest of Dean. Thousands
of'people must have looked at it without really seeing it, but this man noticed that
among the usual stones of that place were bits and pieces of a different colour; they
also fett different to the hand. A closer sight ‘showed that those pieces had been left
behind in the fires of ancient peoples who had smelted rocks to get metals. Looking
around, he found more and more information, until the history of what men had done
at that place over tens of centuries was known. o '

56. ‘his waking life’ means-

57.

(1) the time when he is waking up
(2) all the time he is awake
(3) all the time he is alive

(4) all the time he is breathing

For this writer ‘'seeing’ means—

_{1) noticing things which need explaining

(2) doing something natural

(3) looking at things

(4) doing something without noticing it

PNP-NTS-2015 (27) - ' Contd.
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58 The man found a p!ace where—

(1) men are startlng to woﬂc métal

(2) men built walls of metal

_(3) men smeited metal for tens.of centuries

(4) men first learned to make fire with stones

58. The man who ‘saw’ the wall got more and more information—

(1) from thousands of people who had looked at it

(2) frorﬁa history book

(3) from the usual stones of that place

(4) from the unusual stones of that place

80.  The man’s discovery was useful because it gave us more knowledge about—

(1) colours
(2) stones

(3) walls

[(4) the Forest of Dean

8162  Inthe questions given below, you are provided with the first partof a sentence. The

B1.

remaining sentence is broken into four parts labelled (P) (Q), (R) and (S). You are
required to arrange these parts so as to form a complete meamngful sentence and
then choose the correct combination.

While arranging shelves—

~ P— Where | work

Q-1 came across a book called

R+ atthe library

7 S- Finding God in Mysterious places

L

© PNP-NTS-2015 (28) : ~ Contg. -
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3. RPQS
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L'QRPS
PQSR

RQSP

T .
BT




anid.

62.

We cannot perform- '

P—- some principles of science

Q- brought into play

R~ without having

S— the simplest act ‘

1. -SRPQ

2. QRPS

3. RQSP

4. PAQRS

63-64. The following five sentences come from a paragraph. The first and the last sentence’

63.

are given. Choose the order in which the three sentences (PQR) should appear to

_ complete the paragraph.'
S1 Arainbow is red on one edge,

violet on the other.

. S5 Now, although'we are unable to see ultra-violet light, bees can do so; for them ultra-

~

PNP

 violet is a colour.
P— This colour beyond the violet, invisible to us, is called ultra-violet. .
Q- Outside the violet of the rainbow there is another colour which we cannot see at all.

R- Aithou_gh it is invisible, we know that ultra-violet is there because it affects a photographic

plate. _ 7
Choose from the optioné given below :—
1. PRQ
2. RPQ
3. RQP
4. QPR

NTS-2015 (29) ' : Contd.
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S5 Nature had made her the sort of person to captain mdustry or an army, instead, she
was Nigel's mother: :

P— While she lived, all decisions about his daily life, his friendship, his fortune, had been:

taken by that overbearing woman.

'Q- His father had died when he was small, and when his mother, although still not oid

died too, he was like a man lost; a car W1thout a steering-wheel, a prisaner set.free -
after a lifetime in prison. :

R- In all things her word had been law.

- Choose from the' options given below :
1. RPQ h
2. PRQ

.3, QPR

4 PQR

65-69. Choose the word which best fills the blank from the four options given—

65

Iwas outona moming walk ona guiet, ...t path which ran through the wood.

(1) separated : ' I R

(2) isolated

(3) secluded
(4) unusual

66. Everyone WaS....ioreieeeeenns by a device smalt enough to-fit on a desk—

" PNP-NTS-2015

(1) interested

(2 fascinated

(3) satisfied

(4) scrutinized _
67. The previous owner of our ROUSE......oveeeveeeanes a burglar alarm system in the house but we

never used it—

Ne)) instailed

(2) established
{3) executed _
(4) implemented

(30) o . Comtd.
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- (3) A complete surprise

VAR

- 68. Rajéev was discussing his

_(j)?linking

{2) connecting
{3) joining
(4) arriving
69. Whaf if he

~his bag-

(1) delegated

(2) confiscated
- (3)-delivered

(4) confessed .
70-75.

(2) A shocking event

{4) Adangerous deal
A hard nut to crack—

{1) Abad, tasteless nut
{2) Adifficutt act

' {(3) A person hard to tackle

..................

L@ A person difficutt to please

72. Amanof letters—
- {1} A.scholar !
(2) Aman who knows ABC
3) Aliterate man
- {4) Anintelligent person.
73. From hand to mouth—

(1) leading a simple life

~ (2) barely making two ends meet

{3) working hard for one’s living

(4) hardly doing any work

PNP-NTS-2015

Select the meaning of the given phrases/idioms—
70. Abolt fromthe blue—

(1) A criminal act

Contd.
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75.

76-83.

76.

- 78.

79.

inanutshel-

(1) in a'lavish lifestyle
(2) in a simple way
(3) in detail

. (4) briefly

To get rid of-

(1) to get freedonri from

(2) to getinvolved in
(3) to getinto difﬁcu‘lty
(4) to get comfort from

Elizabeth was waiting 76 a bus. She was going to buy a German dictionary and a-
German grammar 77. She wanted to learn the language before 78 holiday in Ausfralia.
79 it began to rain. She had neither umbrella not raincoat, and she was soon wet. A
man in a car 80 and gave her a 81 into the town. The sun came out again 82. She was
inthe car, and, when she got out, she stood in the 83 sun till she was dry.

(1) of

(2) from

(3) for
(4)in

(1) book

(2) diary -

(3) register

(4) notebook
(1) their

{2} her

(3) his

(4) its

(1) incidentally
(2) accidentally
(3) consequently
_(4) suddenly

PNP-NTS-201 5 {32)

In the following passage there are some numbered blanks. Fill in the blanks by selecting .
the most appropriate word for each blank from the options given below—

i A i - it -

f T R N
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81.

82.

83.

84-87. Select the most appropriate option to fill in the blanks from'.thga given alternatives.—

84.

85.

80. y;sfdpbed )

(2) started
(3) supported
(4) supplied-
(1).-8 life
(2) a book
(3) adictionary
{4 acar
(1) when
(2) while
(3) where
(4) what
(1) hot
(2j bright
AB3) warm
(4) dull

Granny............. her book every where—

'(1) looked ou_f

(2 locked for

(3) looked up

(4) fooked into

The wind blew out the

M1) lamp

(2) light
(3) bulb -

{4) candle

PNP-NTS-2015
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FANINK s

(1Y over
(2) about
(3) on

T v

O S M ¥

87.

88-90. Select the word wh‘ich-mean.s, the opposite of the given word —

88.

89.

(4) upon

The travellers were delaye_d because the bu; had brbken .............. -

(1) out
_{2) down
(3) away -

(4) up

Abundance—
(1) much
A2y shortage
(3) enough
(4) less

Ferocious—

_ w meek:

90.

(2) wild

(‘3) brave

(#) coward
.Compulsdry—

(1) unwilling

(2y mé_ndatory
(3) necessary

(4) voluntary

PNP-NTS-2015 {34)
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% T N T TH AW R S A 93

- O gfE el 8-
(1) 1°C
(2) 5°C
(3) 10°C

(4) 20°C |

94. U% &Y, TP HEH F 25 JPve H 20 94
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Science

¥ 91. A body of mass 20 kg. falls through a
distance of 50 cm. Then the loss in potential
energy is—

(1) 98 Joule

s

(2) 392 Joule

_(3) 980 Joule

(4) 5000 Joute

Calorimeters are generally made of-
{1} Copper .

'(2). Brass

(3) Aluminium

(4) Zinc

e By —— s b

1 Calérie-is able to raise the' temp. of
1gm. of copper throtgh approximately—

(1).19C -
(2) 5°C
(3) 10°C
(4) 20°C

A particle in a medium completes 20

.vibrations in 2.5 seconds. The frequency
. of wave is— ' )

N

(1) 20Hz -,

'
s

(2) 200 Hz

(3) 50 Hz
@) 8Hz -

Contd.
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(1) 1.34 oreqafa

dal - | i

2, SudlT H -

(1) wfreema=
)

. (3) arT
of @)
g8, S 2

(1) @ safy o

@) v -
‘ - (3) eaf—vdelan &1 A |
' (4) TR @1 o A

0

d (1) Praer
) gfEm
(3) wrpfren o
(4) g

3 3 PNP-NTS-2015

Qg.wﬁw:rﬁmvﬁum—%;-

95, U~ ﬁ'WﬁEITE wwed 61 "1 :ma ‘{l’faﬂ & 95. The value of 1 Kilowatt power in terms of ’

horse power will be—

(1) 1.34HP. .

(2) 746 H.P.

 (3) 786 H.P

9. U@ WIS o @1 e far o wear 96.

(4) 4.36 H.P.

A myopic eye can be corrected by using
o :

N Convex lens . -

v (2) Concave lens

o7. CuSO, fier ¥ zn T THE T W 97,
faer Te &1 S € ) 9w erfifear 2

(3) Plane mirror

" (4) Cylindrical lens

In a solution of CuSO,, a piece of Zn is
droped. The solution becomes colouriess.
This reaction will be—

(1) Substitution reaction
(2) Decomposition reaction

_ (3) Addltlon reaction

(4) DISSOCIatlon reactron

98 Decible i IS—- '

(1) a sound apparatus
(2) a sound tone
(_3) The unit of intensity of sound

(4) The wave length of noise

99. The renewable source of energy is-

{1) Coal _
(2} Jranium

(3) Naturalgas

| (4)-Geothermal power -

Contd.
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101,

100. The fi rst artifi C|al satelllte was—

(1) ﬂ‘cﬁ%—ﬁ : : (1) Sputnik-1 -
) € ART—1 _ 2 Explorer—1

(3) mdwce _ _ (3) Aryabhatta

(4) al_"”—? ) o | (4) Luna—3 .

MEGG | Tad CE| T AT IUTE 101, Titanis the Iarggét moon or sé’ieliite of—

(1) 5TG &1 (1) Mars '
Qe ' . (2)Venus

3) g Bl (3) Jupiter

4) oy & ’ . ' _(4) Saturn

102.

oy g8 - ' ' mirror will be—
(1) 10 J¥0 iy (Mm1oem. % |
(2) 12 THI0 . -h‘.‘7"'v N (2).12 cm. "= Ry
(3) 16 ¥fo : /s L, ~(3) 16 cm. C:*J\ .
(@) 20 0 | *-fé";‘_\,, *"5’5{,,_4 @200em w7
' : : N \05‘5’ . . : < _
103. ORAT] HX Bl IR AT S - -~ 303 Intemationa! unit of atomic weight is—
(1) BEF—12 | o o \(4) Carbon-12 -
(2)'31“1255?1?!?—16 . . JK.“’J’\: J\ A (2) Oxygen—16
'(3) B S ' 1 % (3)Hydrogen—1.
4) TEEISTT—14 - .. {(4)Nitrogen-14
104. Wﬁﬁ?ﬁmwﬁ?m 104. Which of ‘the fo!lowmg |sotopes of .
;gﬁgr\x - Uranium is unstable—
(1) U=234 ) o . (1) U-234
@) uzss (2) U-238
(3) U238 (3)U-238
(@) G‘E@Eﬁ T (4)AIEth§ above
PNP-NTS-2015 | ' - (38) ' | Contd.

Ue ogdd guu fTHe wied {\ﬁ 102. A concave mirror of focal length is 10 cm.

10 Jio ¥ foredl o= &1 dfg T A produces an image five times large and

U qRdad Ul 99 8| a9 3 real. The distance of object from the

* et
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105. wﬂaﬁrmm 1gamamﬁ105
W 30 ¥ §EF AMNE H =qg1=h @
A e
(1) 20
(2) 58
(3) 19
(a) 39

106.
gl &-
{1) 36.84
(2) 46.70
(3) 8240
(4) 63.60

TS Ui M B FARISS B GA MCL, g 3R 107,

Tg BT Gl AR 9 ¥ T BN UG
AR BT—

(1) o
{2) 18
(3) 27

(4) 3

wmﬁmww%mgmﬁmﬁ
AR 10 ¥, T BT UAIY AR BT '
ORE |

(2) 2

(3) 3

(4) 4

A e @ fafdre &o 0.1 8 99 T 08,
@ e qwrf{gmtﬂm—

(1) 32

(2) &4

(3) 62
(4) 48

PNP-NTS-2015

107.

108.

109.

frs N0, ez Tor o ufd werr 106

An element have atomic number 19 and
mass number 39. The number of neutron
in its nucleus is—

(120
(2)58 .
(3)19
(4)39

NOE L S R
- o AT
(2) 46.70 | -_ o s
(3) 8240 R - _-\ )

4)6360  omE m S

A metal M has its Chloride formula MCI,
and equivalent weight of metal is 9. Atomlc

_ weight of element is— . S
as i <
()18 |
(3)27°
4)3

Atomic weight of an element is 30, lts
equivalent wt. is 10. The valency of ele-
ment will be—

(11 .

A2 2

(3) 3
(4) 4

Specific heat of any element is 0.1. The
nearest atomic wt. of that element will be—

(1)32
(2)64
(3)62
(4) 48

 Contd.”

Mass percentage of nitrogen in the com-
~ pound N,O,is—

. !':l;i -



(4) 6.023 x 107 | @) 6.023 X 10%
11, Frefefea 3 8 MnO, S 111, In the given below MnO, is catalyst as—
(1) TS SORE ' (1) Positive Catalyst
(2) OIS SRS .- (2)Negative Catalyst
(3) T IBRE o (3) Auto Catalyst
() 9fRa G?ﬁ'f??ﬁ _.A4) Induced Cataiyst
112, | LI I AR BiEEe (MgCO‘,;) T 112. How much MgO is obtained on heating 5
m R fha =ty sifeaes (MgQ) gm of (MgCQ.) Magneﬂc:/um Carbonate—
oTer gm- | (1)24gm. | o> |
(1) 24 5T - . (2)2.38 gm. ‘f . \&Q:;u\.
(2) 238 719 . 7 _ S -
3) 2.8 T - o (3)2.8 gm. *’?/ \;,
@smw @328om.
113. HIfATA BIFEHT (CrPO)fl Cr @ 113, Valency ofCrln CrPO, is;
st 8- | ()4 o B’
(1) 4 | . - ~ \oc°
2) 3 S ,(4{3 | -
('3') 2 e (3)2 @@“
(4) 1 - - S | B
114, FT T Bl ¥ ' " 114. Quinaine is obtained from~—
C weew | (1) Bark
(2) o | ' (@) fuit
(3) T B o L(?ijlgaves
(4) —a@r _q (4) roots
PNP-NTS-2015 , - (40) ) ' Contd.

.. Ud q’m RIEa K | a‘rg@ﬁ aﬁ m 'E,"’r(ﬂ *g_ 110. The numberofmolewles m one moleo
: asis— - e
(1) 6.023 x 102 9 N '

{P6.023 x 102
(2) 8.023 x 102
(3) 6.023 x 107

(2) 6.023 x 102
(3) 6.023 x 107
)

e e - . e

R T .
® e -.,Mmq%jqf_‘?;ﬁv,_
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© 15, Nocturnal bird js—

(1) Piegon
2) TR (2) Sparrow
(3) Sy o (376w
NOK I | : ' {(4) parrot -
. AT IR P aryg g’]’a-r &= 116. Body temperature of human body is-—_
(1) 420 h - (1) 42
@) a00c - - (2) 400
(@) 34c o (3) 34°C
(a) 37°C L fey3rec
T p— . | 117, Budding is fouriqg in-
e © () e - " (1)Mango
(2) dre F - ' ’(Z)’{east_
@uwhay - @Papaya
O e e @ Banama e s e
, e ;13, ﬂTﬁm‘UT & gmg —gf_' S 118. The unit of class-iﬁcafion s
} ' (1) Fomr - | -_ B (1) Class ‘
: () amex : _ | (2) Order
.(3) qxﬁ-gﬁa _ ' | - , _/(sj_/Sp_tacies
@ sty . L (@) Genus
19, FfaRed 3 & o ?184? 9P I 119, Which of the following is a micr;:mutrient :
g o T - element- .7 -
(1) Mg T M
@) K _— | . @k
@) ca | _ | _ (3) Ca
(a) zn B ' AT zn
omi | Pweatsaos @) - ~ Contg.
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120. YRR W BRI B 120. Penciline obtamed from—
(1) wEEE B (1) Cycus
(2) ®aP il _(2Fungi
(3) w4 A (3) Fern
() St 2 (4) Agae
123, U FT XA WIS A B 121. Cotton fibre is obtained from—
(1) il {1y Seeds
(2) vl & (2) Phloem
(3) wfeqat & (3) Leaves
(4) el 3 {4) Roots
122. aﬂ%ﬁrﬁ FraRerd gﬁﬁ'%‘_ ‘ 122. Ves__;et are absent in—
(1) T B B 3 - ' \/(1)_-Piﬁbs wood
(2) ofer &) APl A (2) Shishum wood
(3) i ) ) A (3) Teakwood
(@) g, P AHer (4) Sal wood
123. A Y S | e qrel ot Gﬁ R 123 A substance produced in lwer which
: (Liver) .3{ T 3 gHS %_ . 7 preven_tsrthe freezing of blood is cglief——
(1) ergfem (Pl '
(o) 2aRA (2yHepann
(3) f2Ra= (3) Trypsin.
(@) ?ﬁqﬁq (4) Insulin
126, Tyeifafiaa ¥ W SIEHHA TR WA o 124. Whlch of the following contatns phyto—
B =
(2) T (2) Fungi
(3) qe A (3) Yeast
(8) WfSrared # _(4) Angiosperm
125, A = a% Fr @Y aﬁ“ ~ 125. Auxin harmone was discovered by—
(1) 3 " (1) Vent
@) ‘f\’ 3 M,(Z}_Moqre
(3) e (3) Mehta
(@) a3 (4) Mendal
PNP-NTS-2015 | @) Contd.




thich
ted—

shyto-

Alem
i

Contd.

126. A ¥ Gelmieadi &1 gert wak en-
(1) W |
(@) <
(3) En?aﬁ &~
(4) Ermﬁa’lﬁ'{ E

127, tzmﬁaﬂgaaaganm—

(1) 1526 & %
~ (2) 1556 3. ®
(3) 1757 3. #
(4) 1761 5./ |
128. I FedETE & TR RO
(1) IR
(2) st
(3) SR
(o) Reh

129. 'F&l TAW & ORIUS A

126.

127.

128,

_ J(S)’ﬁgan.si -

129,

Social Science

The First govemer of the Portuguese in
India was—

(1) Albuquerque

{2) De-Almeida

{3) VascMa-Gama
(4) Bortholomew Diaz

When was the battie of Plasi Fougth— |

(1) 1526 AD.
(2) 1556 AD.

 (3) 1757 AD.

(4) 1761 AD
Rani Laxmlbal is associated with C|ty—
(1) Kanpur

(2) Awadh

(4)Delhi .
The Founder of ‘Brahm Samaj’ was—

(1) Rajaram Mohan Rai
(2) Swami Vivekanand
(3) Dayanand Saraswati

- (‘4_) Ramkrishna p_aramhans

130..%?1%%#%%%?{133%%130

8] ST 8—
(1) wETER
() 3=
(3) IrdaR
(4) i

-~

PNP-NTS-2015

Amiong the fol!owmg who is called ‘Light fo
- Asia-

(1) Mahavir . -
{2} Buddha

(3) Akbar

(4) Ashoka

~ Contd.
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132. aa—m? firg 29—

(33, o e @ it @ snvon s 133

(1) 1920 §. ¥
(2) 1939 8. %
(3) 1940 3. H
(4) 1946 T. © |

134 dfeqe @I ARG $d AT

(1) 1945 S.
(2) 1946 5. H
(3) 1947 . H
(4) 1948 . G

135, srﬁ‘a?a' ART SHAE e e Rar- 135.

(1) SFETHIE JoATE Tl
(2) TR AR
(3) wra f¥8

(4) S AT ST

PNP-NTS-2015

131. “The book written by Gandhi jiis—

(1) Common will
| (2) India Wins Freedom
(3) Diécovery of India
ROLY Ex{)é'riment with Truth

132. Kabir was disciple of-

134.

- (1) Ramanand

~ {2) Ramanuja

(3) Tukaram
{(4) Chaitanya

The attainment of complete Inde'pehdance
was declared as the ultimate goal by
Indian National Congress in—

(1) 1929 AD.
(2) 1939 AD.
(3) 1940 AD.

Sl e m el

(4) 1946 AD.

‘Cabinet Mission comes to Indiain~
(1) 1845 AD.

(2) 1946 AD.

(3) 1947 AD.

(4)1948 AD.

Who coined the famous sl.ogan ‘Inquilab
Zindabad'- . =

(1) Ashfaque Ullah-Khan

{2) Chandra Shekhar Azad |
(3YBhagat Singh
(4) Abul Kalam Azad

 Contd.
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136, wmwe@vmﬁa%_ 136.

(1) @A
(2) et @rge
(3) wrge TR
(4) IPTTERH

137. Frefofen ool %9 v wiy ) iy 197

oIl dewar B-
(1) o

(2) weTRTS:

(3) @t

(4) of¥=m ¥

138 TRV A frw ad @ fAffg i 138,

(1) w7
(2) T
(3) T
(4) TRy

{39. el B HEY sraflerg 8- 139.

~ (1) Jammu and Kashmir

(1) o7 3R Tk §
(2) ScRrETS H

(3) fewimrer wawr #
(4)%?6{1#

140, MR &1 a9 99 areT A 8- 140..

(1) e
(2) fazeh
(3) ShaemR

o)

PNP-NTS-2015 _ - {45)

)
(3) Jaisalmer
)

The southern most point of India is—
(1) Kanya Kumari

(2) Indira Point
(3) Point Calimer

-(4) Rameshwaram

Which one of the following states has the

longest coast line—

(1) Gujrat

(2) Maharashtra

(3) Kerla
(4) West Bengal

On which river is the HirakUd dam
constructed—

(1) Narmada -
(2) Godavari
(3) Mahanadi |
(4) Kaveri

‘The Vally of Flower" lies in-

= pr i v,

(2) Uttarakhand
(3)' Himanchal Pradesh
(4) Kerala

The minimum rainfall place in India is—
(1) Mathura ' F
(2) Delhi

(4) Leh o _ ' g

Contd.



141, z%amzqaﬁa'cﬁ%— B V1
© (1) SRR WA |
(2)%Wﬂﬂcréw

| e

B OR =

()
(@) T
(3) oot X
(a) FE
143, WWWWWI}TWMB
u
Jm (1) e
1 ow
(@) geafa
1 e

(1) AR
- (2) mm
ORIC

(4) T

(1) =
(2) W
(3)%?1—&3{%

(4)

, PNP-NTS-2015 (46)

w2 TR frad WEEE T 8- 142.

144'.1%‘23&?{3@#&3&1%— ' 144,

4, ﬁ*mﬁrm’r@zﬁaﬂmw%ﬂﬁ— 145.

Latente Soul is found in—
(1) Uttar Pradesh

(2) Himanchal Pradesh
(3) Kera!a_
(4) Punjab

Damodar is tributary of river—
(1) Ganga

(2) Hugli

- (3) Suvarnrekha

{(4) Yamuna

“Titan' is the largest moon or satellite—
(1) Mars

(2) Venuis

(3) Jupiter

(4) Saturn

Longest River in the world is—.

(1) Missisip
- (2)Kango
{3) Nile

.(4) Ganga

Which is the |argest populated country in
the world—

(1) China

- (2) India
o (3) United State of America
(4) Canada

Conid.
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145, T, R T gouw f%;:[$ 146. The first day session of Indian Constituent

I N argerar Ry B9 Assembly was Chaired by~
(1) o <= T : (1) Dr. Rajgndra Prasad
(2) STaER 9 Ew | - (2) Jawahar Lal Nehry A
(3) §o 310 AT (3)B. R. Ambedkar
(4) Sio IR Ry o 4) Dr SachchidanandASinhq '
147. RO ¥Ee 3 ﬂﬁsﬂ%:m . 147. Indian Parliament consists of—
(1) FﬁWﬂT IR eape - .-‘(1~) Lok Sabha and Rajya Sabha
(2) e, RIS, Qe _ (2) Lok Sabha, Rajya Sabha, Pr_ime Minister
(3) ¥Ee Sy - (3) Speaker, Lok Sabha
(4) S, RIS, Aty _ {4) Lok Sabha, Rajya Sabha, President
148, ST@W fpaft e § e awd 148, The maximum n.umberofAng!olndian who
dreET & R T o woy 1o can be nominated to the Lok .Sabha are—
w2 T o 2
@3 S | 23
e - (9 4 S |
(4) 5 - ' 4) 5 . .

149, G T BT RS R w1t 149. The constitution of India was adopted by

fdar Tur— _ the constituent Assembly on-
(1) 15 3T, 1947 ' (1) 15th August, 1947 ;
n {2) 30 S, 1948 _ (2) 30th June, 1948 ;
1 (3) 26 amIR, 1949 ' S (3) 26th quémber, 1949 |
0 (8) 26 S, 1950 _ _(4)26th January, 1950
mryin ] 150, ?ﬂFFﬂ AT BT Ty zﬂrﬂfg— 150. The Chairman of the planning
' . ' commission is—
-(0) o T - (1) Finance Minister -
(2) e | (2) Prime Minister - |
. Lo ) i
(8) Tz | (3) President |
(4) Retd §& &1 TR ' - (4) Governer of Resevre Bank
PNP-NTS-2015 - ' (47) Contd. |
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151. ?-?IHT\‘THT a%
PeifRa & T -

(1) 840

152,

153,

(2) 545

_(3) 550

() 555

.wﬁwﬁaﬁwwmmﬂ%ﬁ—
(1) = f&7 ¥
(2) ©: #E
@) = = &
[ORcEL

ARG U@ o FROE 15 2, o Toor - 153 Indiais a secular state is encunciated in— ‘
(1) W Al ST |
(2) e SRR

(o) T & AR Frdes i
(4) :rmﬁ’ﬁﬂ Sqe |

Hga W e B g@nau R 3 154, The Headquarter of UNO located at-

qqaw‘( B ;:,qfa-a,—crq ey 151 The Maximum strength of Lok Sabha has .

been fixed-
(1) 540
(2)545
{3)550
(4) 555

152. The Vacancy of the office of the Presideht
must be filled up within— :

{1) Ninty days
(2) Six months
(3) Nine months H

{4) One year

(1) Preamble of the Constitution
(2)Fu ndamental Rights
(3 Directive Pnncnpal of state pohcy

(4) Citizenship prqwsnons__. co i

ot
(1) o= ~ (1) London
(2) 3™ (2)Rome
(3) 78 faeel - (3)New _Dell:li ;
(4), ol (4)NewYork ;
155. wzf% 2ei @ HorA GRS HE( am‘ri%ﬁ 155. The first summit of SAARC was held ]
o fpw T at-
1) New Delhi ]
() = el W |
(2) Frer (2)_‘C_oiombo
() Tl (3) Dhaka
(4) STITHIETE (4) Islamabad
© PNP-NTS-2015 - (48) o Contd.
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156, il Prort Fren Reg &= 156

(1) = =
(2) xr= *1“?‘
() T

(4)%1?!@1\!:@

157, '20@?13{%?12&5&' ugq R e 157,
- ¥ yReT R ma—

" 158.

(4)«1111&@@?&41'

159, 12‘:"ﬁ qaaﬁ?ﬁ pINE] a% W@I B 150

( ) 2001—07
(.?_; 201217
(3) 2010-15

~ (8) 200712

160. ﬁrﬂﬁéﬂﬁﬁﬁaﬁwqﬁrﬁﬁ‘aﬁmq—wo
(1) I T A -
()nﬁd’tm—g’trraﬁ_

(3). SRS T H
(4)511‘%‘1@%%?._

PNP-NTS-2015 _ _ (49)

(1) National Income

Economic planning is a subject of- .-
(1) Union list '

(2) State list
(3) Concurcent list
(4) Not specified in any list

‘Twenty Point Economic Programme was
fixed launched in the year—

(1) 1969

ADHAR’ is a programme—

A1 ) to provzde ldentrty to Indlan residents
- {2) lnfrastructure Development
(3) Education .

© (4) Social Seciirity

The time period of the 12th five year plan
ts— '

(1) 2001-07

(2)2012-17

(3)2010-15 . .

(4) 2007-12 ‘ |

The standard of living in a country is rep-
resent_ed by- " . ' I

(2) Poverty Ratié) ' . t
(3) Unemployment rate o |

(4) Per Capita Income

Contd.
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161.

162.

a@ - - Maths'

afe o AR PABIE fly =xr-3x+ + 3 161. If o and B are the zeros of the polynomial

I RUETEA ypR & B a-p = 77 KF fix) =@ —5x+ ksuch that a—3 = 1, the

"E 8- - , the value of Kis—
(1) 12 | - mez-
- | @6 7"
2)6 : ' SR
( ) _ . Fo = ) .z
(3) @ S
4 - - ) i - o >
: NN € 7T
- ' b YUY
(4) 1 - e a3

aft o+ 2, argqa" g =+ ax + 2b 162. .If (v + 2 is a factor of the polynomial fx}
P v 4 %aﬁ’\{vbt4 f aﬂ)'\’ 5 -—-:\--‘+a.\-+2banda+b:J.thenthevalue
,TJH@US ath=4 Gra ' P

S ‘ of a'and b are-- oo Bk
@ WM Bl NPT
. . ‘ ; '";"'_‘;"- ,\""/ \ (1) a = ]‘ b = 3 . 23 ? \
Ma=1,b=3 A Te” Aw s =L
. '\- ,/.?.' (2) o= 3 b - 1 v -
. . M . ) . _ ~. - E - {-_\
,_/(2) a=3b=1 ;o ’,g 0 - e e
i : A - i b=35 .
@ a=-Lb=5 o D @) a=-1b=3
- ' L. Wt _
) . o - 4 .= . b = __]
@) a=35b=-1 \-\’2.'..1{&;‘- \ ’r‘;c):( ) a=3
e afEy e 22+ L gh = 2025 AV 163, If JF+ 2+ + 90 5 2025 then (0117
Q1)+ (0227 nenf0.99) TR BT § (022 + .(0.99) Wil DEZ
(1) 0.2695 - (o2ess ? ZH
- | S et
(2) 2.695 , (2) 2.695 # A E:B,-}J"
5 £ w T . 75
(3) 3.693 : (3) 3.695 Con” L
(4) 0.3695 (a) 0.3695
B B RPN L
164. IS tanf + _od i+ ——, @164 [firand + )= 2 then the value of .
m tanl tan*é N tanb. _
e PR  rarf+ —L will be—,
4 .Y tan’0 _
0 Y o Y ma i,
B2 it tal ke g A2
e S ok Y _,‘_(2)2 e
RO AT T .
4)s ‘ . | W8 as S é,
PNP-NTS-2015 ©(50) | - Contd.
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PNP-NTS-2015 ' - (51)

(1) a4 , . .
@z T AT
(3) 21° . : _ (3) 21° - e b Jn . .fff,
. @) | . B OX- vy
166. afe Cosf-Sinl =13 o g @ CosO Sinfz. 1T -
CosB+ S0 1+ 3 198 1 Cosar smg"‘ eyg ten s
- T | _
(1) 300 : i ‘;’_(-"» ‘/(9'( E;% ' {¢' é{!,u,';'f; _ _\-’:L{%
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A person wishes to fit three rods togather
in the shape of a right angled triangle
so that the hypotenuse is to be longer
4 c¢cm than the base and & cm longer
than the altitude. The lengths of the rods
are— , '

(1)3 cm, 4 cm, 5 cm
(2)1.5¢cm, 2 cm, 2.5cm
(3)6 cm, 8em, 10 cm
;/(47'{2 cm, 16 cm, 20 cm
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